HE35EEFRM L S CHWA > K7 KIKBH RS 1/5

HH : 2022455 H15H (H) S TR A KK ToBi0(25m)

No.29 &+ 50m BHF B A LL—RREE K 2819

L 10T >

EhI K 4 T & 2E KK B
LR R A-1SS /N5 15/ 9 31.30 105%
2 fhify B WHS C /N5 16/ 4 31.57 9%
3 B Ak EAS CiEky /N5 15/ 2 32.36 %%
4 NI BEFE A-1SS /N5 10/ 4 32.52 9k
5 HiE  3UJh T AR /NG 12/ 6 32.87 8k
6 K fE L ZIiES s /N5 12/ 1 32.95 8k
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9 JIIR; Bl N AR N5 12/ T 33. 31 8%
10 Bl WK EAS Csfy /N5 12/ 2 33.35 8%
11 % W& BHIALF Y 4 13/ 7 33. 42 8%
12 EHYY & BEHI VT /5 13/ 5 33. 47 Sk
13 i Bk BEHFY 7 /5 12/ 8 33.53 8%
14 F)I B THT T s 13/ 8 33. 61 8%
15 g5  HI{E BHAILT Y 4 12/ 9 33. 69 8%
16 K¥ KB M G #=#e /N5 11/ 5 33.84 8ik
17 gaAR B B I G#E /N5 11/ 0 33. 86 8k
18 RAF BESR TT T TT7 b 8/ 6 33. 91 8%
19 HFk BeH THETIZ7 M 9/ 8 34. 11 9k
20 AT PE #)IIS S /N5 10/ 1 34.16 8H%
21 &1 =E BHF¥7 /4 10/ 5 34.23 9%
22 AR (4 JSS#MH ! 9/ 9 34. 36 9H%
23 KA W& BEHFY 7 5 9/ 7 34. 45 TR
24 EE MR 7T /N5 7/ 3 34.53 TR
25 VBT FHTHAE A-1SS /N4 7/ 4 34. 69 8k
256 KAAFHAE J S S#m /N 8/ 3 34. 69 Sk
27 PR MY BRI LTF ¥ 4 10/ 3 34. 71 8%
28 HIE SR Hiss /N5 10/ 8 34.73 T
29 [IF &R JSS#m /N5 10/ T 34.77 Tk
30 ¥p b HREE T 2R A 10/ 9 34.78 Sk
31 NH&®MD v7 b — NS 8/ 7 34. 80 TR
32 EHOL D BHF Y7 /5 10/ 6 34.96 TH%
33 EH  EFE EAMS S /N5 9/ 2 35.00 Tk
34 BAK EFL J S S#EH /N5 10/ 0 35.25 Tk
35 KFE Hi# T ARESH: /N4 9/ 3 35. 46 8k
36 HiE Hi T AR /NG 8/ 8 35.58 6%
37 K& FIE LZixs s A48/ 9 35. 66 8k
38 Mkl A RSCE +- /N4 9/ 6 35.73 8%
39 JIIEF  HEL LZlXS S /N4 6/ 5 35. 81 8k
40 exr AT 75 N9/ 0 35. 86 6%
41 R B¥ IS S /INB 7/ 1 35.93 6%
42 oA kAL T — e N3 6/ 9 35. 96 1%
43 KA W= M G A /N5 9/ 1 36. 00 67%
44 FHIFERTY JSS#mH /N4 8/ 5 36.10 TR
45 I B4 HELSC /NG 5/ 5 36. 37 6%
45 HRF Hrd T A REH /NG 6/ 0 36. 37 6%
45 fiE Fn M eAETE /M 6/ 4 36. 37 Tk
48 FHEE HAfX T AR e/ 1 36. 39 65%
49 ey I TrTTT7 b 7/ 0 36. 48 6%
50 A OEn MG RN /N 7/ 9 36. 56 6%
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59 By ASfE J S S#H /NG 5/ 1 37.42 5%
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61 INE A-1SS ! 3/ 3 37.55 %
62 7 F& BIISS /NG 4/ 3 37.57 5%
63 ZEI > J S S#EH /INB 3/ 4 37.80 5k
64 PRk & JSS#mH /N5 4/ 5 37.96 5%k
65 goA A KBS C /N5 6/ 8 38.26 43tk
66 [LIAFLE A B I GH=R /N 4/ 2 38.29 6%
67 [ET  ZE 75 /N4 5/ 7 38. 34 6%
68 IUF f&ak J S S#H /N5 5/ 0 38.35 4%
69 HHREILE T ! 5/ 9 38. 45 6%
70 R 5 N AR /NG 4/ 7 38. 51 4%
70 FTHFT L ZiES S /N 5/ 8 38. 51 6%
72 W ORSE EHF v 7 /N3 1/ 3 38.53 6%
73 A FEAS A-1SS ! 3/ 0 38.59 6%
74 PR BEHR JSS#m /N5 3/ 5 38.88 45,
75 U LZ1xS S /N4 5/ 6 39.16 4%
76 RN TN — s M 4/ 1 39.59 55k
17 EEE WA A-1SS /N3 3/ 6 39.93 8k
78 KL KA T — eS8 2/ 5 39.97 8%
8 WAROED IS S /N4 4/ 0 39.97 5%
80 JHE/KOED LZlEsS s /N3 3/ 1 40. 14 Sk
81 [ FnZE — 5SS /N4 2/ 0 40. 43 5k
82 HMNEEH B 1 GER /N3 1/ 4 40. 69 T
83 4 IR T AR /N4 4/ 9 40. 72 5%
84 AR EF vs kU — /NG 2/ 2 40. 91 3%
85 gk & v R — /N4 1/ 6 41.02 4%
86 LA H T AR /N5 3/ 1 41.09 2%
87 /NI EF v7 hU— /NG 3/ 8 41.14 2%
88 FAZK KA L ZlXS S /N3 3/ 9 41.19 Tk
89 #H Fi/Y v R — /N3 1/ 5 41. 21 TH%
90 HRxE M JIV—rEme /4 2/ 7 41.23 45
91 ek FEIH B I GHER /N3 2/ 8 41.26 %
92 BER BR ®HESC /N3 2/ 1 41.29 TH%
93 EH  #RO T — AR /NS 1/ 2 41.57 Tk
93 %k =% T ) — M /N 2/ 3 41.57 o
95 &l EW T — AR N3 2/ 6 41.63 T#%
96 AR LZlxsS s /N3 3/ 2 41. 89 TH%
97 FEILZE B & TV —rEs /M 1/ 7 42.43 45%
98 Hikf  AE5#E = J7JESS /N3 1/ 0 43. 01 3%
99 AR HFH v kU — /N3 1/ 8 43. 46 6%
100 EH W% T —rEmE /M 1/ 1 44. 42 2%
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6 FEA T EHFvy 7 /6 20/ 9 29. 56 107%
T AA INT AR 1 20/ 8 29.59 9%
8 1l Fnk BHAONLVTF Y 1 19/ 8 29. 74 9%
9 5k Hir EHF¥ 7 /6 19/ 0 29.99 9%
10 g W RSCH + 1 18/ 1 30.07 9%
11 i Mg BHBPLF v 6 18/ 0 30.16 9%
11 H)I FE J S S#H 18/ 7 30.16 9k
13 ZHILUDD A JSS#H F1 19/ 1 30.23 9k
14 FE¥EA 1 RSCHE = F1 19/ 9 30. 25 9%
15 i BEMN BHAINLTF ¥ /6 18/ 5 30. 26 9fk
16 FEiili Bk TV — A N6 16/ 5 30.33 8k
17 Ftr e+ RSCH + /N6 15/ 3 30.59 Otk
18 Ml FELZS LZixs s /N6 18/ 2 30. 60 9%
19 g T JSS#H N6 17/ 8 30. 62 91k
20 A == J S S#H /N6 18/ 6 30. 69 8
21 K& B TV — s e 17/ 1 30. 95 9%
22 1l BEZE LZixs s N6 17/ 4 30. 97 9%k
23 KEp ZEHL B4 S S /N6 11/ 3 31.06 91k
24 B E(E A-1SS /N6 16/ 6 31.10 oK
24 /B HER Y LZixS S 17/ 7 31.10 Stk
26 HIRE A+ L ZlxsS s /N6 14/ 4 31.13 9%k
27 [AfER = MG =R /N6 15/ 4 31.16 91k
28 BEJI| AL LZIl¥S S 1 17/ 0 31. 22 Stk
29 ZRINHAAEHR B I G#E F1 14/ 3 31. 34 8k
30 ik A4 A-1SS 1 16/ 1 31.38 Stk
31 Ak #hAR LZiES S /N6 15/ 8 31.43 8k
32 M % L ZIl¥S S /N6 16/ 0 31. 61 8k
33 IUT iRl B 1 GH¥=R /N6 14/ 2 31. 91 8k
34 WNH  ZRmE A-1SS /N6 12/ 3 31.94 81k
35 HAT #3E L ZI1ESS /N5 15/ 7 32. 01 8%
36 KM Fjk T AIRH i1 13/ 3 32.03 %
37 W) O v7 hU— /N6 15/ 0 32.18 Stk
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50 =4  HifE T A RS /N6 11/ 8 34.40 (N
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58 AKkf HEZS J S S#H NS 6/ 2 36. 31 5#%
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9 fE I T AR 2 20/ 2 29.97 8k
10 [ #AE T5 F1 18/ 4 30. 05 Sk
11 BEH AiE T AR 3 19/ 6 30.13 Tk
12 AR FnfE: VAt AV 2 14/ 5 30. 31 Sk
13 JFAR  Fil EHFy~7 H2 17/ 6 30. 47 8%
14 #H  Figk EAMS S 3 16/ 3 30. 59 TH%
15 JIFT A4y EHF v 7 |3 16/ 2 30. 74 5%
16 KM R EIkS P 3 18/ 3 30. 87 Tk
17 )I1E #ir A eAlAaTE 2 18/ 8 30.92 Tk
18 4B W B I G#E 2 17/ 2 31.00 T
19 & L¥E AT eAEAA TR L 17/ 5 31.02 Tk
20 A LE H)IIS S 2 15/ 6 31.80 65%
21 HRK B Ay A VS HE F3 17/ 9 31. 81 6%
22 S HEHR AT eAlAa T 3 16/ 8 31. 86 (4
23 AL i vs kY — o 16/ 7 31.87 65%
24 K BRJY WS S 1 11/ 9 32.87 5k
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10 [ (il JV—VEH w3 21/ 6 28. 68 8ik
11 w4 il WA ATE T F3 22/ 9 28. 71 Sk
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15 A M RSCE +- Bl 20/ 4 29. 84 Tk
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